
90th Percentile Calculation – EXAMPLES: 

Systems that collect 5 samples 
1. Order lead results from lowest to highest:

No 1:  0.008 mg/L 
No 2:  0.008 mg/L 
No 3:  0.008 mg/L 
No 4:  0.011 mg/L 
No 5:  0.020 mg/L 

2. Multiply number of samples by 0.9 to determine which sample represents 90th
percentile level.  

5 samples * 0.9 = 4.5 (average of the 4th and 5th highest sample results).  

Average the 4th & 5th samples highest sample results to get 90th percentile value 
(0.011 mg/L + 0.020 mg/L)/2 = 0.0155 mg/L 

3. Compare to lead action level exceedance
PB90 0.0155 mg/L > 0.015 mg/L (Action Level Exceedence) 

4. Repeat for copper.

Systems that collect 10 samples 
1. Order lead results from lowest to highest :

No. 1:  0.005 No. 6:    0.014 
No. 2:  0.005 No. 7:    0.014 
No. 3:  0.005 No. 8:    0.014 
No. 4:  0.005 No. 9:    0.020 
No. 5:  0.014 No. 10:  0.040 

2. Multiply number of samples by 0.9 to determine which sample represents 90th
percentile level 

10 samples x 0.9 = 9th highest sample 

3. Compare to lead action level exceedance
PB90 0.02 mg/L > 0.015 mg/L (Action Level Exceedence) 

4. Repeat for copper.

Systems that collect less than 5 samples 
1. PB90 and CU90 are equal to the highest lead and copper levels.

PB90 = 0.0155 mg/L 

PB90 = 0.020 mg/L 



90th Percentile Calculation - DEQ REPORTS 

Go to: http://deq.mt.gov/wqinfo/pws/leadcopper.mcpx    

Select Active PWS System Data, after 
the jump, enter your PWSID and dates of 
interest and select “Submit Query”. 

Lead & Copper Sample Summaries or 90th 
percentiles are listed on the last page of the 
report just above Violations & Enforcements. 


